cissell

MANUFACTURING COMPANY

Owner's Manual

30 Lb. Laundry Dryer

Refer to
Addendum A
for Updated
Information
MODELS
GAS STEAM ELECTRIC
L28US30G L28UR30S L28UR30E
L28UR30G
CISSELL MANUFACTURING COMPANY
HEADQUARTERS PHONE: (502) 587-1292
831 SOUTH FIRST ST. SALES FAX: (502) 585-3625
P.O. BOX 32270 SERVICE/PARTS FAX: (502) 681-1275

LOUISVILLE, KY 40232-2270

THIS MANUAL MUST BE GIVEN TO THE EQUIPMENT OWNER.

MAN310 10/95 D0526 R1
2107


melissat
Rectangle

melissat
Text Box
Owner's Manual

christio
Text Box
R1

christio
Text Box
2/07

christio
Text Box

christio
New Stamp


Addendum A
L28UR30, L28US30 Models

PART NO. DESCRIPTION COMMENTS PAGE NO.
TU3240H Thermostat 2 required; Hi & Safety; 185 degrees
TU5150H Thermostat Medium; 150 degrees
TU7244H Thermostat Low; 135 degrees
TU2045H Thermostat Cool down; 155 degrees
TU1979H Door Switch Includes hardware
K189 Timer Replacement Kit 15 minute; 120 Volt
K188 Timer Replacement Kit 60 minute; 120 Volt
K194 Timer Replacement Kit 15 minute; 240 Volt; 60 Hertz
K193 Timer Replacement Kit 60 minute; 240 Volt; 60 Hertz
K190 Timer Replacement Kit 15 minute; 240 Volt; 50 Hertz
K192 Timer Replacement Kit 60 minute; 240 Volt; 50 Hertz
CM6760 Coin Meter 120 Volt; 25 cents; No cam
CM6860 Coin Meter 240 Volt; 25 cents; No cam
TU3395 Belt Upper
TU3395 Belt Lower
TU7016H Sheave Basket
TU5217 Sheave Idler
TUB559 Sheave Motor; 60 Hertz
TU7603 Sheave Motor; 50 Hertz
TU12803 Idler Bracket Assembly Single motor only
TU10002 Flange Bearing
TU10003 Pillow Block Bearing
TU15670 Fan
TU8206 Air Switch Kit
TU14482 Switch
TU6557 Gas Valve Natural Gas; 12; Baso
TU13187 Gas Valve Natural Gas; ¥2 Combination
TU13373 Gas Valve L.P. Gas; ¥2; Baso
TU8596 Ignitor Glow bar
TU8599 Relay Ignition
TU8598 Radiant Sensor
TU2405 Steam Coil 9 section
TU6041 Steam Solenoid Valve 120 Volt
TU5924 Steam Solenoid Valve 240 Volt
TU15107 Door Glass
TU15966 Door Glass Gasket
TU2090 Door Gasket
TU2874 Door Handle
TU10763 Front Panel Includes catch; Add color
TU9511 Lint Door Add color
TU2083K Basket
TU7188K Basket and Spider Single motor
K20 Spider Single motor
TU10362 Lint Screen
K665 Switch Replacement Kit
TU9030 Temperature Selector Switch
2/13/2007 D0526



Obsolete Parts — No Longer Available

PART NO. DESCRIPTION COMMENTS PAGE NO.
K373 Timer Electronic coin board
TU7171 Loading Door and Hinge

2/13/2007 D0526
- i -



smemems KEEP LOADING DOOR CLOSED enmsssss

WARNING: The Dryer Must Be Used Only For Water Washed Fabrics. »
WARNING: To Avoid Fire Hazard, Do Not Dry Articles Containing Foam Rubber Or

Similarly Textured Rubber-like Materials.

CAUTION: A Clothes Dryer Produces Combustible Lint And Should Be Exhausted
Outside. '

CAUTION: A Clothes Dryer Produces Combustible Lint And The Area Around The
Clothes Dryer Should Be Kept Free Of Lint.

CAUTION: Remove Clothes From Dryer As Soon As It Stops. This Keeps Wrinkles

From Setting In And Reduces The Possibility Of Spontaneous Combustion.

FOR YOUR SAFETY wCAUTION ..
D0 NOT STORE OR USE GASOLINE OR OTHER FLAMMABLE VAPORS AND LIQUIDS IN THE

VICINITY OF THIS OR ANY OTHER APPLIANCE. NOTE: PURCHASER TO POST THIS
CAUTION NOTICE IN A PROMINENT LOCATION!

For optimum efficiency and safety, we recommend that you read the owner's
manual before operating your Cissell commercial clothes dryer.

RETAIN THIS MANUAL FOR FUTURE REFERENCE. STORE MANUAL IN A FILE OR BINDER.

POST INSTRUCTIONS TO BE FOLLOWED IN THE EVENT THE USER SMELLS GAS IN A
PROMINENT LOCATION. INFORMATION TO BE POSTED CAN BE OBTAINED BY CONSULT-
ING THE LOCAL GAS SUPPLIER.

CAUTION

"DO NOT PUT INTO THIS DRYER FLAMMABLE ITEMS SUCH AS: BABY BED MATTRESSES
THROW RUGS, UNDERGARMENTS (BRASSIERES, ETC.) AND OTHER ITEMS WHICH USE
RUBBER AS A PADDING OR BACKING.'" RUBBER EASILY OXIDIZES CAUSING EXCESSIVE
HEAT AND POSSIBLE FIRE. FLAMMABLE ITEMS SHOULD BE AIR DRIED.

DO NOT DRY ITEMS CONTAINING FOAM RUBBER OR ANY RUBBER-LIKE MATERIALS IN
THIS DRYER.

RUBBER EASILY OXIDIZES CAUSING EXCESSIVE HEAT AND POSSIBLE FIRE. ALL
ITEMS CONTAINING RUBBER SHOULD BE AIR DRIED.

Synthetic solvent fumes from drycleaning machines create acids when drawn

through the dryer. These acid fumes cause rusting of painted parts, pitt-
ing of bright plated parts and completely removes the zinc from galvanized
metal parts, such as the tumbler basket.

If the drycleaning machines are in the same area as the tumbler, then the

tumbler make-up air must come from a source free of solvent fumes.

BE SAFE - SHUT MAIN POWER OFF EXTERNALLY TO MACHINE BEFORE SERVICING.

1



WARRANTY

Cisseil Manufacturing Company, (Cissell) warrants all new equipment (and
the original parts thereof) to be free from defects in material or workmanship for a period
of one (1) year from the date of sale thereof to an original purchaser for use, except as
hereinafter provided. With respect to non-durable parts normally requiring replacement in
less than one (1) year due to normal wear and tear, including, but not limited to, cloth
goods, valve discs, hoses and iron cords, and with respect to all new repair or replacement
parts for Cissell equipment for which the one (1) year warranty period has expired or for
all new repair or replacement parts for equipment other than Cissell equipment, the war-
ranty period is limited to ninety (90) days from date of sale. The warranty period on each
new replacement part furnished by Cissell in fulfiliment of the warranty on new equipment
or parts shall be for the unexpired portion of the original warranty period on the part
replaced.

With respect to electric motors, coin meters and other accessories furnished with the new
equipment, but not manufactured by Cissell, the warranty is limited to that provided by the
respective manufacturer.

Cissell's total liability arising out of the manufacture and sale of new equipment and parts,
whether under the warranty or caused by Cissell's negligence or otherwise, shall be limited
to Cissell repairing or replacing, at its option, any defective equipment or part returned
f.0.b. Cissell’'s factory, transportation prepaid, within the applicable warranty period and
found by Cissell to have been defective, and in no event shall Cissell be liable for dam-
ages of any kind, whether for any injury to persons or property or for any special or conse-
quential damages. The liability of Cissell does not include furnishing (or paying for) any
labor such as that required to service, remove or install; to diagnose troubles; to adjust,
remove or replace defective equipment or a part; nor does it include any responsibility for
transportation expense which is involved therein.

The warranty of Cissell is contingent upon installation and use of its equipment under
normal operating conditions. The warranty is void on equipment or parts: that have been
subjected to misuse, accident, or negligent damage; operated under loads, pressures,
speeds, electrical connections, plumbing, or conditions other than those specified by
Cissell; operated or repaired with other than genuine Cissell replacement parts; damaged
by fire, flood, vandalism, or such other causes beyond the control of Cissell; altered or
repaired in any way that effects the reliability or detracts from its performance, or; which
have had the identification plate, or serial number, aitered, effaced, or removed.

No defective equipment or part may be returned to Cissell for repair or replacement
without prior written authorization from Cissell. Charges for unauthorized repairs will not
be accepted or paid by Cissell.

CISSELL MAKES NO OTHER EXPRESS OR IMPLIED WARRANTY, STATUTORY OR
OTHERWISE, CONCERNING THE EQUIPMENT OR PARTS INCLUDING, WITHOUT LIM!-
TATION, A WARRANTY OF FITNESS FOR A PARTICULAR PURPOSE, OR A WARRANTY
OF MERCHANTABILITY. THE WARRANTIES GIVEN ABOVE ARE EXPRESSLY IN LIEU
OF ALL OTHER WARRANTIES, EXPRESS OR IMPLIED. CISSELL NEITHER ASSUMES,
NOR AUTHORIZES ANY PERSON TO ASSUME FOR IT, ANY OTHER WARRANTY OR
k/:eB%_LgFT FLN[-?TOS,NNECWON WITH THE MANUFACTURE, USE OR SALE OF ITS EQUIP-
N A .

For warranty service, contact the Distributor from whom the Cissell equipment or part was
purchased. If the Distributor cannot be reached, contact Cissell.

REPLACEMENTS PARTS ARE AVAILABLE FROM DISTRIBUTORS OR:

&
cissell

PO. Box 32270 Pacific Coast Office: Foreign Distributors European Headquarters:

Louisville, KY 4823 W. Jefferson Bivd. write Export Dept., Pantex-Cissell B.V.

40232-2270 Los Angeles, CA 90016 Cable Code “Cissell” PO. Box 53, 9670 AB

502/587-1292 213/731-2196 Telex No. 204158 Winschoten, Holland
Telex No. 53535

o PR

Page 2



30 Lb. UR, US LAUNDRY DRYERS
TABLE OF CONTENTS

GENERAL INFORMATION

Caution Notices. . . . . . . .+ & v v v ¢ v vt e e e e e e
Warranty . . . . e s e e e e e e e e e e e e e
Outline Dlmen31ons - L28UR30G e e e e e e e e e e e e

Outline Dimensions — L28US30G. . . . . . « v v ¢ « « + .
Specifications, Motor Number List. . . . . . . .

Unpacking, General Installation. . . . . . . . .

General Information, Electrical Connections. . . . . . . . . . .
Gas Piping Information and Installation. . . . . . . .

Exhaust Duct Installation, Air Flow. . . . . . .

OPERATION

Rules for Safe Operation, Energy Saving Tips e s e e e e e e e .
Service Savers . . . . . . . . e . e . .
Operation -~ Coin Meter Models (Mechanlcal & Computerlzed)
Operation - Timer Models . . . . . . + ¢ & v v v « o o o o v .

TROUBLE SHOOTING AND DRYER DIAGNOSTICS

Dryer Diagnostics Board . . . . . . . ¢« . ¢ 4 v v v . .

Diagnostics Charts . . . . & « & v v v v v v v v e e e e e
Trouble Shooting Charts. . . . . . + . . v v v v v v v o v .

SILICON CARBIDE IGNITION SYSTEM

General Information. . . . . . . . . . . « .+ . . . . . .
Operation, Safety Features . . . . . . ¢ v v v v v o « o o .
Test Procedure, Trouble Shooting Parts . . . . . . . . . . . . .
Wiring Diagram . . . . . . ¢ . ¢ 4 4 v 4 e e e e e e e e .
MAINTENANCE

Lint Trap, Basket, Burners, Motors, General. . . .

Burner Air Inlet Shutters Adjustment . . . . . . . . . . . . .
Bearings, Basket Alignment, Basket Shimming. . . . . . . .

Air Switch Adjustment. . . . . . . . . .« v o o« ..

ILLUSTRATED PARTS

Front View . . . . . . . . . . . .

Rear View. . . « e e e e e e e e e
Computerized C01n Meter Control Panel e e e e e
Single Timer Control Panel . . . . . . . .

Coin Meter Control Panel . .
Front Panel and Door Assembly. . . . . . e e e e s
Thermostat Assembly - Timer Models . . . . . . . « . « . . . .

Thermostat Assembly - Coin Meter Models. e e e e e e e
Recirculating Duct Assembly, Air Switch Assembly e e e e e e e

Gas Bonnet and Burner Assembly - L28UR30G.
Gas Bonnet and Burner Assembly - L28US30G.

Page 3

42-45

. 17
18-19
20

21-22
23-26
27-31

32
33 35
36-38

39

40
41

46

47-48

. 49-50

51
52
53
54
55
56
57
58
59



OUTLINE DIMENSIONS L28UR30G
30 LB. DRYERS

9%

GAS
CONNE_CTlON
2|/
' /
ELECTRICAL ——
CONNECTION
s
i i
i -
681/2
57V
40
8" DIA. OPENING
e FOR EXHAUST DUCT
28% _J
-
FRONT VIEW REAR VIEW
5
ELECTRICAL
" CONNECTION -
1
1 L 257 ‘1
27/8 GAS

31%

e

BASE MOUNTING

HOLES

"

. . . 1
Dimensions Given In Inches* 7

a
——Dﬂ/z

ul
14%
R

by

CONNECTION

8"DIA. EXHAUST
DUCT CONNECTION

34

SIDE VIEW

Page 4



OUTLINE DIMENSIONS

30 LB. DRYERS

L28US30G

GAS
93/4 CONNECTION coi’r(d:‘(\:l;lsgn
vl AT
] 8% | || |5
ELECTRICAL ——— ‘L P
‘ CONNECTION 4
T @ H |
73,
68'/2
57V |
1
o N, -1~
©)
A \d N
3
28;’4 51/‘—0- l——
6" VERTICAL
FRONT VIEW REAR VIEW EES$UST
ELECTRICAL
CONNECTION |3
\ /
27 %
AN
=
|
$ +
1 T bf
BASE MOUNTING o
HOLES
12%
34 13Y%
Dimensions Given In Inches* s

Vertical Exhaust
factory standard

SIDE VIEW

Page 5

GAS
CONNECTION



GENERAIL, SPECIFICATIONS -~ MODELS L28UR30G & L28US30G

Basket Load Capacity.ee e esrneenenneenennoennnas 30 1b. (13.61KG) dryweight

BASKEE SiZ@.uueneneeneenneeesenesoonoennneenanss 28"(72CcM) Dia. x 30"(76CM) deep

Total Amps, Voltage, Cycle. ... ieinnnineennneanans Refer to Rating Plate on Dryer
UR Models US Models

Floor Space 68%"H(174CM) x 28 3/4w(73CM) 68%"H(174CM) x 28 3/4W(73CM)
x 46%D(118CM) x 47%"D(121CM)

Exhaust AIT DUCE SiZ€.euvuireernnnnenennnnnccnenns "UgR" - 8"(20CM) Dia.

Pressure Maximum, .3" Static Pressure "gs" - 6" (15CM) Dia.

MAIN DRIVE MOTOR

Motor No. Voltage Hz Phase H.P. Basket/Fan Amperes R.P.M.
MTR200 115/208-230 60 1 1/2 Basket/Fan 6.2/3.1 1725
MTR115 120 50 1 1/2 Basket/Fan 8.2 1425
MTR127 240 50 1 3/4 Basket/Fan 6.0 1425
MTR214 208-230/460 60 3 1/2 Basket/Fan 2.2/1.1 1725
MTR189 240/415 50 3 1/2 Basket/Fan 2.1/1.2 1425

MODEL L28US30G ENERGY SAVER SPECIFICATIONS

Maximum Air Displacement.....uv.ieeeeeeeeeeeesenn 350 C.F.M. (10 M3/Min.)

FB T U, INPUL . et teneseenocoeenenneanansnonennens 80,000 B.T.U. per hour (Nat. & L.P. gases)
Dryer Gas Burners (set at factory) built-in 3.5 inches regulated pressure

(natural gas only).

L.P.Gas Pressure 11" W.C.

Gas SUPPLlY.euireeeenerneeeenereenneosnanonoensenns 1/2"(1.27CM) Pipe Connection

Drying Time (approximate).......eeeeveceeenannas 10 1bs.(4.5KG) dry weight (Indian Head)
70% moisture retention - 10 minutes.

Net Wedlghteeieeioeieeeieneeeneneeonnenesenaonnses 495 1bs. (225KG) (approximate)

Domestic Shipping Weight (1 carton).........oc.. 526 1bs. (239KG) (approximate)

Export Shipping Weight (1 BOX).uverevernereennass 664 1bs. (301KG) (approximeate)

MODEL L28UR30G -~ GAS FIRED - SPECIFICATIONS

Maximum Air Displacement........eeeeeeeeeeenesas 700 C.F.M. (19.8 M3/Min.)

Recommended Operating Ramge.....eveeeeeeneencnnan 530-630 C.F.M. (17.8 - 19.8 M3/Min.)

GaS SUPP LY ettt it eeeeonsoerososeeesennsonnnnnns 1/2" (1.27CM) Pipe Connection

*B,T.U. Input..ceeeenn. et ecesei et «++..100,000 B.T.U. per hour (natural gas
and liquid petroleum gases)

Electronic Ignition. cvs e iieeeneennnesnossens Silicon Carbide Ignition System

Drying Time (approximate).....ceeeeeeeeeeeeensnn 10 1bs. (4.5KG) dry weight (Indian Head)
707 moisture retention - 10 minutes.

Net Welght..eosoeieoioiieineaneenenoecenennannns 452 1bs. (205KG) (approximate)

Domestic Shlpplng Weight (1 carton) ............. 507 1bs. (230KG) (approximate)

Export Shipping Weight (1 bOX)eeveeoweeeomeneenn 621 1bs. (282KG) (approximate)

Export Shipping DimensionsS.......e.veeveoeeosess 74"L(188CM) x 31"W(78CM) x 52"H(132CM)

*Input ratings as shown are for elevations up to 2000 ft. (609.6M). TFor elevations
above 2000 ftf, ratings should be reduced 4% for each 1000 ft. (304.8M)above sea level.

Page 6



UNPACKING

All Cissell Dryers are packed in a protective (heavy-duty) plastic bag.

Upon arrival of the equipment, any damage in shipment should be reported
to the carrier immediately.

Upon locating permanent location of unit (units),care should be taken in
movement and placement of equipment.

See Outline Clearance drawings for correct dimensions.
Remove all packing material such as tape, skids, manuals, etc.

Leveling; Use spirit level on top of dryer. Adjust leveling bolts on
dryer (See Maintenance Section for correct leveling procedure.).

Check voltage and amperes on rating plate before installing dryer.

GENERAL INSTALLATION - ALL DRYERS

The construction of Cissell Dryers permits installation side by side to
save space or to provide a wall arrangement. Position dryer for a least
amount of exhaust piping and elbows, and allow free access to the rear of

the dryer for future servicing of belts, pulleys, motors, etc. Installation

clearance from all combustable material is 0" ceiling clearance, 0" rear
clearance, and 0" sides clearance.

Before operating dryer, open basket door and remove blocking between the
front panel and basket. Read all instruction tags, labels, etc.

Important: Opening the clothes lcading door will de-activate the door switch

to shut off the fan, motor, and gas. To re-start the dryer,
close the door and press the '"Push-to Start'" button for about
two seconds.

Important: This dryer is designed for a maximum capacity load. Overloading

it will result in a longer drying time and damp spots on
some clothes.

Important: Maximum operating efficiency is dependant upon proper air
circulation. The lint screen must be kept clean daily to
insure proper air circulation throughout the dryer.

Page 7



GENERAL INFORMATION

The Cissell Dryer is so designed that when an operator opens the dryer door, the
basket and exhaust fan stops. You can expect fast drying from a Cissell Laundry
Dryer. Hot, dry air is properly and effectively moved through basket and
exhausted through a lint trap to atmosphere. The Cissell Dryer comes equipped
with an inclined self-cleaning lint screen. In this system, lint accumulates

on the underside of the screen until a blanket approximately 1/4" thick is
formed. This blanket of lint will fall from the screen to the bottom of the

dryer cabinet, and should be removed daily, or as required, to prevent an over
accumulation,

CISSELL "COOL~DOWN'" CYCLE

Permanent press, durable press and other modern day fabrics require the
care that your Cissell Laundry Dryers now provide.

At the end of the drying cycle, a timed '"cool-down" control automatically
takes over and continues the rotation of the fan and basket without heat
until the garment load reaches a safe cool temperature. This function is
performed at the end of each drying cycle and continues for two minutes.

ELECTRICAL CONNECTIONS - ALL DRYERS

Dryers must be electrically grounded - by a separate #14 or larger green wire
from the grounding terminal within the service connection box to a cold water
pipe, or through the fourth green wire properly grounded and connected to the
grounding terminal. 1In all cases, the grounding method must comply with local
electrical code requirements; or in the absence of local codes, with the
National Electrical Code as ANSI/NFPA No. 70-1987.

See wiring diagram furnished with dryer. Your Cissell dryer is completely wired
at the factory and it is only necessary for the electrician to connect the power
leads to the wire connectors within the service connection box on the rear of

the dryer. Do not change wiring without consulting factory as you may void the
factory warranty. Do not connect the dryer to any voltage or current other than

that specified on the dryer rating plate. (Wiring diagram is located on rear
wall of dryer).

GROUNDING
INSTRUCTIONS

OAYER GREENM GROUND SCREW\

GREEN GROUND COPPER WIRE

GROUND CLAMP

MUST BE TIGHT ON PIPE GROUND

CLAMP

GROUNDED
COLD WATER
PIPE

Page 8



TOTAL BTU/HR GAS PIPE SIZE FOR 1000 BTU NATURAL GAS AT 7" W.C. PRESSURE
(for L.P. gas ,
correct total In figuring total length of pipe,
BTU/HR below make allowance for tees and elbows.
by multiplying 25 Ft. " 50 Ft. 15 Ft. 100 Ft. 1725 Ft. I50 Ft.
by .6)
60,000 3/4 3/4 3/4 3/4 3/4 3/4
80,000 3/4 3/4 3/4 1 1 1
100,000 3/4 3/4 1 1 1 1
120,000 3/4 1 1 1 1 1
140,000 3/4 1 1 1 1 1%
160,000 3/4 1 1 1% 1% 1%
180,000 1 1 1l 1% 1k 1%
200,000 1 1 1Y 1% 1% 1%
300,000 1 1% 1% 1% 1% 1%
400,000 1% 1Yy 1k 1% 1% 2
500,000 1% 1l 1% 2 2 2
600,000 1% 1% 2 2 2 2
700,000 1% 2 2 2 2 215
800,000 1k 2 2 2 24 2%
900,000 2 2 2 24 2% 2!
1,000,000 2 2 2 2% 2% 2%
1,100,000 2 2 2} 2% 21 2%
1,200,000 2 2 2% 2% 2% 2%
1,300,000 2 2% 2% 2% 24 3
1,400,000 2 2 2% 2l 3 3
‘1,500,000 2 2% 21 2 3 3
1,600,000 2 2% 2% 3 3 3
1,700,000 2 2% 2 3 3 3
1,800,000 2% 24 3 3 3 3
1,900,000 2} 2 3 3 3 3
2,000,000 2% 2% 3 3 3 3%
2,200,000 2% 3 3 3 3% 3
2,400,000 2% 3 3 3 3% 3
2,600,000 2% 3 3 3% 3% 34
2,800,000 2 3 3 35 34 3%
3,000,000 2% 3 3% 3% 3% 4
3,200,000 3 3 3% 34 3% 4
3,400,000 3 s 3 34 4 4
3,600,000 3 3% 3k 3 4 4
3,800,000 3 3 3% 4 4 4
4,000,000 3 3l 3% 4 4 4

GAS PIPING INSTALLATION

The installation must conform with local codes or, in the absence of local codes,
with the National Fuel Gas Code as ANSI 2223.1-1984 .

Check gas rating plate for type of gas to equip the dryer.
Check for altitude elevation of the dryer.

Check utilities for proper installation of gas supply line and gas pressure.
NATURAL GAS ONLY. )

Check the gas pressure inlet supply to dryer, 11 inches W.C. Pressure maximum.
Check the manifold pressure 3.5 inches W.C. Pressure (Natural Gas)

L.P. GAS ONLY - 13 inches W.C. Pressure Maximum

CAUTION: Low gas pressure and intermittent gas will
cause gas ignition problems and inadequate drying of
the clothes load.

Page 9



GAS SERVICE INSTALLATION INFORMATION

The size of the gas service pipe is dependant upon many variables, such
as tees, lengths, etc. Specific pipe size should be obtained from the
gas supplier. Refer to ‘the "Gas Pipe Size" chart in this manual for
general gas pipe size information.

Caution: Gas loop piping must be installed as illustrated
to maintain equal gas pressure for all dryers connected to
a single gas service.

Other gas using appliances should be connected upstream
from the loop.

f PO S I o TR T T W =a
i

Pipe Gas Loop I
Gas Meter

gas service pipe Individual Dryer

Shutoff Valves

Gas Tap

Service
Gas Line — Dryers
Water L
Heater (s) )

WARNING: If the dryer is to be connected to liquified petroleum (L.P.)
gas, a vent to the outdoors must be provided.

Page 10




GAS SUPPLY \:\J

PIPING SYSTEM

Gas
“T*"Fitting J

Gas Line to
Dryer Controls

1/8" N.P.T. plugged tapping
accessible for pressure
testing. Gage connection Main Manual
located upstream from dryer Gas Valve wE® -
main manual shut-off. (Shutoff) o 3.8
c EO
EE
0w EO
The Dirt & Water vapor pipe trap must be furnished and
installed by Customer. —

Pipe Cap

The dryer and it's individual shutoff valve must be disconnected from
the gas supply piping system during any pressure testing of that system
at test pressures in excess of % psig.

The dryer must be isolated from the gas supply piping system by closing
it's individual manual shutoff valve during any pressure testing of the

-gas supply piping system at test pressures equal to or less than % psig.

Page 11



DRYER INSTALLATION WITH SEPARATE EXHAUST (PREFERRED)

For ductwork less than 14 ft. and 2 elbows equivalent and less than 0.3 in. statie

pressure.

Never exhaust the dryer into a chimney.

Never install wire mesh screen over the exhaust or make-up air area.

Never exhaust into a wall, ceiling, or concealed space.

<:> Make-Up Air opening from outside the

building may enter the enclosure from
the top or side walls. The area of
the opening should be equal to 4 to

6 times the sum of the dryer duct
areas. Provide 1 sq. ft. for each 6
in. diameter; 2 sq. ft. for each 8
in. diameter; and 4 sq. ft. for each
12 in. diameter.

Enclosure (plenum) with service door.
This separates the dryer air from the
-room comfort air.
air instead of outside air, additional
heat loss can be another 25 B.T.U./hr.
for each cubic foot per minute (CFM)
used. Example: a 110 1b. dryer with
2000 CFM = heat loss of 50,000 B.T.U.
/hr.

Zero inches clearance to combustible
material allowed on sides and at

top.

If dryers use room J/

Vent cap

——
Air Flow to

e 1

points within 4 inches of front on k/4”

Heat loss into laundry room from dryer
front panels is about 60 B.T.U./hr.
per square foot.

@]

Page 12

Service
Door




Dryer Installation With Multiple Exhaust

No. of Dryers

Duct Diameter
(in inches)

(in CM)

No. of Dryers

Duct Diameter
(in inches)

(in CM)

No. of Dryers

Duct Diameter
(in inches)

(in CM)

For Exhaust Duct less than 14 feet and 2 elbows
equivalent and less than 0.3 inches static pressure.

A A A
| [ [
< | . I |
Air Flow t
prowe | 4— T /]
Building | |
|
| |
A A
D CEEDD
DRYER EXHAUSTS

DRYER EXHAUSTS

Area of section “A-A” must be equal to the sum of dryer exhaust pipes
entering multiple exhaust pipe. (See chart below.)

MODELS: L28FD30, L28US30, L36FD30, L36UR30, L36CD36, L44FD42

1123|4567 ]8(9|10|11]12(13(1415]16(17|18|19]20(21|22|23

24

6|9 (11112]14(15]|16|17|18|19|20|21 22|23 (23|24 |25(26 (26 |27 28|28 |29

30

15123127 |30|35|38|41 (43|46 |48 51 (53 |56 |58 |58 616366 |66 |68 |71]|71|73

76

MODELS: L28CD30, L28UR30, L36CD30, L36UR30, L36CD36, L44FD42

1123 9 110(1112|13|14(15|16]17|18(19|20]|21|22|23

24

8 (12|14 24 (2612712829 (30(31]32|33|34|35]36|37|38]39

40

2013035 61(66|68]|71|73(76|78]81|84|86|89]91|9497 |99

100

MODELS: L44CD42, L50CD42
1121345678

30

9 (1011 )12

12 117 |21 |24 |27 32|34136|38|40]42

3043153616876 |81 (86|91 |97 (100|106

Start and Stop

AUTOMATIC ELECTRICAL CONTROL FOR EXHAUST FAN

For one or more dryers to start fan.

Exhaust

Booster Fan
Power Supply *®
to Fanloloy

i 14r° Ko &0 ¥p Lo o

NIENMIN T\“r'\ N

|
Relay Coils

Switches on
Dryers

ﬁ ﬁ ﬁ \W ﬁ

Page 12



melissat
Rectangle

melissat
Pencil


DRYER AIR FLOW INSTALLATION

Nothing is more important than air flow for the proper operation of a clothes dryer.
A dryer is a pump which draws make-up air from the out-of-doors, through the heater,
through the clothes and then forces the air through the exhaust duct back to the out-

of-doors.

Just as in a fluid water pump, there must be a rluid air flow to the inlet

of the dryer if there is to be the proper fluid air flow out of the exhaust duct.

In summary, there must be the proper size out-of-doors inlet air opening (4 to 6 times
the combined areas of the air outlet) and an exhaust duct size and length which allows
flow through the dryer with no more than 0.3 inches water column static pressure in
the exhaust duct.

Energy-saving dryer models require less inlet air area and smaller exhaust ducts ihan
the regular dryers because there is about half as much air flow through the dryer.
However, the importance of the proper inlet air area and the correct exhaust duct size

is twice as important on energy saving models.
dryer is offset only by the attention required to provide the proper air flow.

The huge savings of an energy-saver
Once

this proper air flow is provided, it lasts for the life of the installationm.

CISSELL WILL PROVIDE FREE ENGINEERING ADVICE FOR ANY SPECIFIED INSTALLATION.

In some instances, special fans are required to supply make~up air and/or boost
exhaust fans are required for both regular and energy saving models.

EXHAUSTING DUCT

For best drying:

1.

Exhaust duct maximum length 14
feet of straight duct and maximum
of two 90 degree bends.

Use 45 deg. and 30 deg. elbows
wherever possible.

Exhaust each dryer separately.

Use 2 feet of straight duct on
dryver before installing an elbow,
on Energy Saver models only.

Do not install wire mesh or other
restrictions in the exhaust duct.

Use clean-outs in the exhaust
duct and clean periodically when
needed.

Never exceed 0.3 inches water
column static pressure in the
exhaust duct.

Inside surface of the duct must be
smooth.

Recommend pop rivets for duct
assembly.

Page 14

MAKE-UP AIR

For best drying:

1. Provide opening to the out—of-
doors in accordance with the
following: For each dryer -
€" dia. exhaust req. 1 sq.
make-up air

8" dia. exhaust req. 2 sq. ft.
make-up air

12" dia. exhaust req. 4 sq.
make-up air

ft.

ft.

2. Use barometric shutters in the
inlet air opening to control
air when dryers are not running.

Other Recommendations

To assure compliance, consult local
building code requirements.

FOR HELP, consult Cissell Engineering
on tough installatioms.

Trouble Shooting: Hot dryer surfaces,
scorched clothes, slow drying, lint
accumulations, or air switch mal-
function are indicators of exhaust
duct and/or make-up air problems.



DRYER INSTALLATION WITH MULTIPLE EXHAUST

For Exhaust Duct more than 14 ft. and 2 elbows equivalent and more than 0.3 in.
static pressure.

.

@60 6 6 O

®

Provide Clean-Out

Make-Up air from outside building may enter enclosure from top or side walls.
Area of opening should be equal to 4 - 6 times the sum of dryer duct areas.
Provide 1 sq. ft. for each 6 in. diameter; 2 sq. ft. for each 8 in. diameter;
and 4 sq. ft. for each 12 in. diameter.

Use constant diameter duct with area equal to the sum of dryer duct areas.
Example: 6 - 8 in. diameter duct = 1 - 19.6 in. diameter duct in area. TUse
20 in. diameter duct or diameter to match tube-axial fan.

Enclosure (plenum) with service door. This separates the dryer air from room
comfort air. If dryers use room air instead of outside air, the heat loss can
be another 25 B.T.U./hr. for each cubic foot per minute (CFM) used.

Example: 110 1b. dryer, 2000 CFM = 50,000 B.T.U./hr. loss.

Zero inches clearance to combustible material allowed on sides and at points
within 4 inches of front on top.

Heat loss into laundry room from dryer fronts only is about 60 B.T.U./hr. per
sq. ft.

Flange mounted, belt driven tube-axial fan. Fan must run when one or more

dryers are running. See suggested automatic electrical control wiring diagram
on previous page. Must meet local electrical codes. Fan air flow (CFM) is equal
to sum of dryer air flows, but static pressure (S.P.) is dependent on length of
pipe and number of elbows.

Barometric By-Pass Damper - adjust to closed flutter position with all dryers

and exhaust fan running. Must be located within enclosure.

CAUTION: No two installations are the same. For assistance, consult factory

(502) 587-1292. Never install hot water heaters or other gas appliances in
the same room as dryers. Never install cooling exhaust fans in the same room

as dryers.
///\\(—.Vent cap

Alternate
A Type

Roof Line

as Needed

Page 15



RULES FOR SAFE OPERATION OF YOUR CISSELL DRYER

(1)  Be sure your dryer is installed properly in accordance with the
recommended instructions.

(2) CAUTION: Be safe - Shut main electrical power 'supply
and gas supply off externally before attempting
service.

(3) CAUTION:

(A) Never use drycleaning solvents: gasoline, kerosene, or other
flammable 1iquids in the dryer. Fire and explosion will occur.

(B) Never put fabrics treated with these 1iquids into the dryer.

(C) Never use these liquids near the dryer,

(D) Always keep the Tint screen clean; a full lint screen may be a
fire hazard.

(E) Never use heat to dry items that contain plastic, foam or sponge
rubber, or rags coated with oils, waxes or paints.” The heat may
damage the material or create a fire hazard. Rubber easily ox-
idizes caus1ng excessive heat and possible fire. Never dry the
above items in the dryer.

(4) Never let children play near or operate the dryer. Serious injury will
occur if a child should crawl inside and the dryer is turned on.

(5) Never use dryer door opening and top as a step stool.

(6) Read and follow manufacturers instructions on packages of laundry and
cleaning aids. Heed any warnings or precautions.

(7)  Never tumble fiberglass materials in the dryer uniess the labels say
they are machine dryable. Glass fibers break and can remain in the
dryer and could cause skin irritation if they become mixed into other
fabrics.

(8) Reference - Lighting and shutdown instructions and wiring diagrams are
Tocated on the rear wall of the dryer cabinet.

(9) Replacement parts are available from Distributors or:

CISSELL EOOBO;: 33(2Y70 Fofeign Distributors
uisville, write Export t.,
MANUFACTURING COMPANY 40232-2270 Cable Code ‘%?:sell"
: 502/587-1292 Telex No. 204158 )
Pacific Coast Office: European Headquarters:
4823 West Jefferson Blvd. Pantex-Cissell B.V.
Los Angeles, CA 90016 PO. Box 53, 9670 AB
213/731-2196 Winschoten, Holland
ENERGY SAVING TIPS: Tetex No. 53538
1. Install dryer so that you can use short, straight venting. Turns,

elbows and long vent tubing tend to increase drying time. Longer drying
time means the use of more energy and higher operating costs.

2. . Operate dryer using full-size loads. Very large loads use extra energy.
Very small loads waste energy.
3. Dry Tight weight fabrics separately from heavy fabrics. You will use

less energy and get more even drying results by drying fabrics of
similar weight together.

4, Clean the lint screen area daily. A clean lint screen helps give
faster, more economical drying.

' Page 16



5. Do not open the dryer door while drying, you let warm air escape from
the dryer into the room.

6. Unload the dryer as soon as it stops. This saves having to re-start
your dryer to remove wrinkles.

Service Savers

To help you trouble shoot the dryer, we list below the most common reasons
for service calls...and some answers to the problems. Before you call
service, please review the following items:

DRYER WON'T START:

Is the door completely closed?

Are the controls set to a drying pos1t1on and not to off?

Did you push the start control?

Has a fuse blown or a circuit breaker tripped? Are fuses tight?
Check for low voltage.

v WM —

DRYER WON'T HEAT:

1. Is the dryer set for a heat rather than an air only position?

2. Is the gas valve in the dryer and the valve on the main gas line
turned on?

3. Check for low or intermittant gas pressure.

CLOTHES ARE NOT SATISFACTORILY DRY:

1. Timed cycle - Did you allow enough heating time before the cooldown part
of the cycle?

2. Is the 1int screen blocked?

3. Is the exhaust duct to the outside clean and not blocked? (A blocked
exhaust will cause slow drying and other problems).

4. Venting, air switch closing and make up air for each dryer.

GAS DRYER IGNITION:

Refer to Norton Ignition System section of this manual,"Instructions for the
Direct Ignition System Operation." Check and see if themanual gas valve is
open. Then reset the dryer controls. If dryer stills fails to heat call for
service. All panels, covers and doors must be in place and closed before start-

ing dryer.
VERY IMPORTANT:

When calling the factory for service, always refer to the model number and
serial number.

Page 17



OPERATING INSTRUCTIONS - COIN METER MODELS

After loading the dryer with water washed clothes, close the loading door.

Insert proper coin(s) in slot and turn knob until it stops. For "Computerized"
models, the amount of dry time will appear on the digital display. Maximum time
is 99 minutes. Additional coins may be vended any time during the cycle.

Turn Temperature Fabric Selector to desired setting. "LOW" is for delicate,
sheer, and easy dry fabrics.130°-140°F exhaust temperature. "MEDIUM" is for
synthetics and permanent press fabrics. 155°-165°F exhaust temperature. "HIGH"
is for cottons, linens, and heavy fidbrics.170°-180°F exhaust temperature.

Press "PUSH TO START'" button holding about 2 seconds until dryer is running.

@
COOLING  DRYING m

MED. DRYING MED.

LOW @HIGH , Low @meﬂ

TEMPERATURE J TEMPERATURE
FABRIC SELECTOR . FABRIC SELECTOR
‘!; .

g I /
PUSH TO START _ PUSH TO START ¢

NORTH AMERIC AN BuiLImS CONTROLS CORP
FAEOERICK MARVLAND USA

ELECTRO/MECHANICAL COIN METER COMPUTERIZED COIN METER

What is happening after Step 4:

1. Digital Display will count down time remaining in cycle (Computerized Coin Meter)
2. The fan motor and basket will revolve. '

3. The heat source will be energized.

4. The heated air will mix with the wet clothes and evaporate the moisture.

5. The thermostats will operate at a safe temperature.

6. The heat will shut off and the cooling cycle will begin.

IMPORTANT

I1f the tumbler door is opened during the drying cycle, the fan and heat will shut off.
Press '""PUSH TO START" button to resume the cycle.

This dryer is designed for a capacity maximum load. Overloading it will result in
longer drying time and damp spots on some of the load.

Maximum operating efficiency depends on proper air flow. The lint screen must be kept
clean daily to insure proper circulation of air throughout the dryer.

This commercial dryer has keys for the lint door and access door to burners and controls.
This is for the safety of the user.

Page 18



INSTRUCTIONS FOR SETTING TIME _ON ""COMPUTERIZED COIN METER" CONTROL BOARD

z@ﬁ” »n
prthinerl
.:a 6saq\\J
l;aos”a-a.1 \
il ““*g@ 0
| e T
DIP Switch Banks are located here 2 ___/

This dryer is equipped with 2 separate DIP switch banks for setting
drying time. One is for 10¢, one for 25¢.

Each DIP switch bank consists of 4 small switches each with a specified
amount of time (minutes), as shown:

ON

lil[ﬂﬂ‘m

1 min. / 4 min.
2 min. 8 min

To set the time on the 10¢ DIP: Simply set the appropiate switch to the
on"»(up) position to total the desired amount of time:

Example: 10¢ for 7 min. m m @ m

1 42 +4 +0 = 7 Min.

Note: "Off" (down) position equals 0 minute.

To set the time on the 25¢ DIP: The same method is used as the 10¢ DIP,

except, there are 3 min. already built in the 25¢ DIP only. So, substract

3 min. from your desired total time, and set the switches to equal the
remainder.

Example: 25¢ for 15 min. m m m @

0 +0 +4 +8 = .
15 min.(desired total time) "built—iran" = lg giz
~3 min.("built-in" time) '

12 min.(set switches for remainder) Total desired= 15 Min.

Page 19



MED.

/7
LOW Zﬁs HIGH

TEMPERATURE
FABRIC SELECTOR

PUSH TO START

SINGLE TIMER W/THERM-0-COOL
OPERATING INSTRUCTIONS

Step 1. After loading the dryer tumbler with the washed clothes load, proceed to
close the loading door.

Step 2. Turn timer knob to the desired drying time.

Step 3. Turn Temperature Fabric Selector to desired setting. "LOW" is for delicate,
sheer, and easy dry fabrics 130°-140°F exhaust temperature. "MEDIUM® is for
synthetics and permanent press fabrics 155°-165°F exhaust temperature. 'HIGH
is for cottons, linens and heavy fabrics 170°-180°F exhaust temperature.

Step 4. Push "PUSH TO START" button holding about 2 seconds until dryer is running.

Step 5. 1. The fan motor and basket will be energized and revolve.

2. The heat source will be energized (gas burners will operate).

3. The heated air will mix with the wet clothes and evaporate the
moisture from the garments.

4. The thermostats will operate at a safe temperature.

5. The heat will shut off and the cooling cycle will begin (motor
will operate only to cool the clothes load for desired handling
temperature.)

6. The light will stay on until the therm-o-cool thermostats cools
below 135°F. before the contacts open. to shut off dryer.

IMPORTANT

If tumbler door is opened during the drying cycle, the fan and heat will shut off,
Press "PUSH TO START" button to resume cycle.

This dryer is designed for a capacity maximum load. Overloading it will result in
longer drying time and damp spots on some of the load.

Maximum operating efficiency depends on proper air flow. The lint screen must be kept
clean daily to insure proper circulation of air throughout the dryer.

Page 20



DRYER DIAGNOSTICS

The lamps on the Dryer Diagnostics Board are a valuable aid in detecting
problems in the dryer. You can tell at a glance whether motor, safety
and/or ignition circuits are malfunctioning.

The Diagnostic lamps are sequenced from left to right. If a lamp is not
- 1it, no lamp to the right of that lamp should be Tit.

DRYER DIAGNOSTICS

L 30“075“

IGNITION

HDYN uoron GN'Y- RELAY ‘T!R
NUNING u’!n 4 POWER

.....

éaﬁaéﬁﬁ'

A. DRYING LIGHT ON CONTROL PANEL
This light glows when the coin meter or timer is activated
and indicates the dryer is ready for use.

Motor Power

This light glows when the door is closed. Power is available
to start the dryer.

Motor Running

This light glows when the push-to-start switch has been pushed
the motor is running and a centrifically operated back contact
switch in the motor is closed.

The motor is running and power to the safety-control circuit is
available.

Safety Thermostat Closed

This 1ight glows when the safety thermostat is closed which is
the first element in the safety-control circuit. Power is avail-
able to the air-flow switch.

Air-Fiow Switch Closed
This light glows when the air-flow switch is closed and it blinks
when the air-flow switch is fluttering.

Power is available to the control thermostats when the air-flow
switch is closed.

Page 21



Ignition Power

The Tight glows when a control thermostats circuit is closed and
whenever the timer is not in thé cool-down cycle.

The control thermostat circuit is either low, medium or high and
is control by the setting of the Temperature Fabric Selector. ‘
Power is flowing through all of the previous elements as indicated
by the 1ights and power is flowing to the safety gas valve and
power is available for ignition.

Ignition Relay Power ,

This 1ight glows when the ignition relay coil is energized.

This 1ight is the key to trouble shooting of the ignition
components. .

First, when the radiant sensor is cool, it indicates that _

the radiant sensor switch is closed and that the normally

closed (NC) contacts of the relay are now open and that the
normally open (NO) contacts of the relay are now closed.

Which indicates that the relay coil is o.k, and the relay is
operating.

At this time, when radiant semsor is cool, the igniter

should be glowing and the Igniter Power 1light should

be 1it. Second, when the radiant semsor is hot, it indicates that
the NO contacts of the relay are now closed and power is available
for the operating gas valve. At this time, when the radiant semsor
is hot, the operating gas valve should be energized and the gas
should be burning.

Igniter Power

This light indicates that power is flowing to the igniter

through the radiant sensor and the igniter should be glowing

red hot. _

If this Tight is not 1it and the Ignition Relay Power light is 1it,
then the gas should be burning which means that the operating gas
valve has been energized by means of a circuit through the non-
glowing igniter.

Proper Operation of Diagnostic (@ - off, 0 - 0On)

@ ¢ 0 0 0 0 ¢ ODryer Off

0 0 0 0 0 0 0 Coin Meter Energized - (Dryer Off)
0 0 00 0 0 0 Dryer Started (Glo-Bar On)

0 0 0 0.0 0O @ Dryer Running (Gas On)

0 0 0 0 @ 0 0 Thermostat Cycled (Gas Off)

0 C 0 0 0 @ & Thermocool (Gas Off)

O 0.0 0 0 ¢ 0 Dryer Off

Page 22



y v
Buijoko @ OO uwo O &
SM3J0S 335 uajybi] 9s007 Aa||Nnd 4030y
|®3yM 43|p] 8de|day uajodg [33YyM 43|pI *3A | 0ABU
uotsua] 3[ag 3Isnlpy 95007 3199 SN AN SN uwwmunphwn
1198 9AL4Q 33)seg ade|day uayoug 31°9 WM my mN ww mw wu hM suna 4030y

*1030ll PUNOAR pUR UO P3je[NUNIOL JUL| UB3|)

buldasajyasnoy 4004

‘peo| 404 pazLs A|s3enbape si Buluim
eyl aunsul 03 Auedwod uamod |BI0| YILM 3I3Yy)

butJdiM 83enbspeus

*Auedwod Jamod |BJO| Y3Lm ¥I8Yd jou 41 ajeld
buLjed aojow uo umoys 368I[OA 4O %0L + ULYILM 3q
Isnu 36e3|OA “s|euluudl 4ojow e 36eF|OA 3I3Y)

abej[op MO]

‘peo| AAeay 8yl JO SWOS dAOWY

papeo|JaAQ 33jseg

\/
XX XXX ¥

(-swL3 3u0ys
40} suna u0j0u)
4032330u4d
|euayl uo
burddiLa) uoz0y

4030y 30| day 40joy 31309591 | O OO0 O O WM
*yd3LMS Joop 3de|day Y23 MG 4000 BAL39338(Q
*3oe|d uL |aued yjim
w8/€ U03ING YOFLMS URI|D 03 4IA3| J03enloe Juauwysnfpy
puaq pue (aued juouy BurAowsu Aq yd3LMs 3Isnlpy 30 IN0 Yd3LMS a00g (uo 3ybiL}
[dued) jue3s
*J400p 9S0[) uadQ 400(q burpeo’ (X X | Q0O O 30U LMooy
*U3AUp JO Jedd
UO X0Q |BJ143I3|3 UL SUOLIIBUUOD BULM YI3Y) UOL3o3UUO) 34N 85007
J3WL]l UQ uanyl *M) QOuy 33eJO04 pul ULOD 3150d3Q | 40 4BWL| 4O UIIB ULO)
uo 0} uod u Amuw 3oL
SL YO3LMS [043U0D ulew |oued) jue3s
3UNS YW *S4IYLAUG ILNIUALD O S3sny YI3Y) smogoN | OO @@ @ @ @ | j0u |14 Jo304

AGIN3Y

IsSnvd

+SJIILSONDVIA

318n04L

Page 23



BujoAD @ 1O ®

4

Uuo O »

*4d38W uLod
ddoe|dau ‘suoL3oa|as aunjedadwdl [|e uo Jybi|
Jou saop 3Jybi| 4amod uor3tubL 41  3eIsoumayl
9AL30343p BULUMBLIP 03 du4neudadwd) yoea Ho8y)

4333 uLo)
40 Je3S0WMAY] 3A}30343(Q

YO3LMS a1y 3de|day

3A}308430 YIIIMS ULy

* Lenuew
801A49S UL 393YS Juawlsnfpe YoLMS uLe 93§

jusw3snlpy
30 IN0 YOILMS ULy

“Butuado

M34Js ojuL abneb wnndeA ay3 30 aqn3 J43qqnd

3yl buLjuasul pue ‘usfup 40 (dued Juoay 8Yy3 uj
MBUDS [elawl 3a9ys e BuiAowsd Aq abneb-n wnnoea
® YjtM 3pew 3q ued Huipesa wnndep *sayoul g°
pue G[° udaM}aq abued pLnOys (uUwn|od udjeM jO
SayouL uL) buipeau wnndeA “uakup 40 uotleaado
LeUMOU 404 €SS3| 40 ‘uUWN| 0D J3JBM JO SAYDUL 60"
03 sdoup 4aAup ULYILM wnndep  *33[3N0 3sneyxsd
9Y} UO UIIUIS © ||RJSUL UBABN “UDJULM UL J4BAO
U3Zouy 40 JuL| y3tm pabbo(d aq Aew 3L 38| 3no
3yj uo pa||ejsul A|uaddoadwt udaq sey UIIUDS

e JI "3313IN0 3Isneyxa 3dsy) -paziLs A|3jenbape
aJe sburuado 4re dn-sjew pue juom 3onp eyl
aJ4nsuL 03 333ys uoLje|fesur ¥23y) ‘dn-pping
JULL 404 d0OM 3ONnp }03Y) -bBuruado wodsy uadwep
JudAdud Aew eyl SISNEd U3Y3O0 40 UOLe|NWNIIE
JULL ©s3090q0 ubLauoy 404 uddwep 3jedp

Aoeq Yoa3y) A|Lep juswiaedwod Jul] 3no uea)

TN ELEET]
J0 UdQ YO3LMS ULy

/

Q

XY X Jolo
A
3¢ B Br ReRele)

PR S

-

v/ VY
N/

*Jdojow Jsredas 40 dde|day

A0J0W U] YO3LMS -
Lebnjtazua) aAL39943Q

/
000000

jeisowdayy A3ajes 3de|day

nelsowuady] A3ajes aAL10949(

/\O\
000000

jeay ou
ang suna 434hug

JdaWL] 40 433 uL0) Ide|day

MauL | /4973 ULO) BAL1D943(

JaWL] 40 4333 uLo) 3de|dsy

BWL] /U89 ULOY BALIDD43Q

AN YA \q
Otom%DI
A 200 WU S 2 W R WV i S 4 4
22200Q0

LN LD

*9124>
40 pus 3e dojs
"30U S30p 4dAUQ

AGIN3Y

asnvd

+SJIIISONDVIA

379n04 1

Page 24



m:__o>o,,0“

1O ®

uo o *

"3UL7 BAoWRY

pajeLnunddy Ui

*42A4p 3yl JO edJe
ISNeyxa ay3 sawp} 9 03 § 99 Isnw aie dn-ajey

A}y dn-3jey 33enbapeuf

?z|s
2934400 40} A403004 23Yd--5301 4140 dde|d3Y

"3V L40
J3UANG ULRW 3934400U]

20y 003 43kuQ

Jejsouuay) aoe|day

*403ub L
03 4950{2 ,p/l 40SUBS BAOUW 4O MOPULM uea()

JR3SOUMaYl IALII843(Q

A0SU3S JueLpey

L
X
(0
o
oL
2OC
O

‘340
g uo Buy 242
Jdauang ugey

*9zys
1994409 404 A403004 O9YD - SIIL}}40 3de|dIY

*$3214140
J3UANG ULRY 3934400U]

*3je|d
fuijed Uo pajroads se aunssaud seb snlpy

BANSSUd SRY MO

~
”

~,
”~
~,

P ¢
04
X
G4
L
XX

*seg BuljLub]
JON 4331ub]
opLgue) UODL|LS

*(,u0, pauany s} seb 4} YI3Y)) aApep se9 adelday

(sa]9k) 4a3Lubj)
aALBA SBY 3A139843(

p N4
X
o
2O
>0
0
Bo)

J0SUaS jueipey dde(day

(330 09 JON s30Q 433Lubj)
AOSURS juelpey 3AL30343Q

* (wa3shs

uop3tub) 03 *AOZL 404 NP9Y))  4@3Lub] de|day

(Mo[9 30N s20Q 4a34ubj)

493 LUBT 9A133348(

Cd
~
td
~
'
~
d
~
vd
~
vd
~
ol

0
O
0
0
O
L

Ae|ay uor3Lub] aode|day

"awi)l awes 3y 330 8

ug 31247 6L usmoqd 433

-Luby g Ke|3y uoL3Lubr)

Ae|3y UoLILUB] 3ALII343(Q

JOSUIS 3Juejpey ade|day

A0SUdS jueipey 3ALII¥I3Q

jeay ou
Ing sunua 4344

AGIN3IY

SNy

318n0uL

Page 25



/

Buioko @ HO® uo O«
3sneyx3
*jsneyxs ueal) pPax20ig 40 PaILUISdY
*9ZLS 3014140 3284400 404 A403004 ¥O8Y) abuae7 00 3314140
*9unssaad seb 3934400 40} 3leid Bupjes Yoay) ybLH 001 8unsSsadd sey
*3n0 moLg d3uang ut 3atg £ [4adouduy
furuang
awe|j aniq 404 uadQ |paso|) S4d33NYS Uiy J3uang v/N SAduUANg utey
uUoLsud] pue JusawublLle 3|39 ¥29Y) 1199
*A|9jeLpauwt paAowsd 3q pLhoys
$309[q0 ubia40j yong °33)seq ayl punoue s3avYs
doams ayj jsuiebe Hedap pue suoljeudojuad 3ajyseq
ay3 uyp Buey Aew °239 ‘s|Leu “smauds A||euoiseddq $399(qQ ubts.o4
*(suoL3dnujsul |enuew 3O3yd) 3ajseq ublly Burqqny 33xseg
‘padoe|da4 aq p|hoys suej pabeweg ‘adueieq
opweukp ay3 abueyd ued spe|q ues 3y3 o} abeweq aoueieg jO InQ uey
buijeuaqLa 40
*24npadoud Bup|ana| Jadoad 40y [enuew }28Y) palaAa 0N Y/N ASLOU 4BAUQ
*3onp 3sneyxa IzZLs
J43bae| 3asn sAemiy °30np 3ISneYxa 3ZLS J4d||ews
8SN UBASN “N4OM 30np wouy dn-pLLhq JuUi| 40 SUOL} *w93sAS 3sneyxd
-ON43SQO DAOWSA pue J40j YIBY) °SIZLS PIPUBUWOIBU pozLg A|93enbspeur
40} |enURW 3ILAJDS UL 333YS uoLle||eIsul Yo8y) AQ pa30143sdy AL Lelided
*93e|d buijes uo paLyLdads se aunssaad seb 3snfpy ybLH oot wgzmmmsa_mm~
[ /\/
ase[dau 40 uado L[Ny 39 ISNY saadueg 3ong 3sneyx;| O O O @ @ Wu, Wu, 10y 003 49KQ

AdGINIY

asnvd

+SIILSON9VIA

3719n041

g

Page 26



TROUBLE SHOOTING CHART.

CAUSE

TROUBLE REMEDY
Motor will No Power Check fuses on circuit breakers. Make sure main
not start control switch is on. '

- Incorrect power Check power source: voltage, phase, and frequency
must be the same as specified on electrical rating
plate.

Time off . Check timer for proper setting or
"check coin meter for proper vending.
Loose wiring Check wire connections in"electrical box on
connections rear of Dryer.
Motor Low voltage Check voltage at motor terminals. Voltage must
tripping on : be within (plus or minus) 10% of voltage shown
thermal on motor rating plate--it not, check with local
overload- power company for recommended corrective measures.
Inadequate wiring Check with local power company to insure that
wiring is adequately sized for load.
Loose connections Check all electrical connections and tighten
any loose connections.
Inadequate air Check installation sheet in service manual for
recommended make up air openings.
Poor housekeeping Clean lint accumulation on and around motors.
Basket will . Loading door open Close door.
not turn

Door switch out
of adjustment

Adjust switch by removing front panel and bend
actuator lever to clear switch button 3/8" with
front panel in place.

Defective door
switch

Replace switch.

Defective basket
motor contactor

Replace contactor.

Page 27




TROUBLE CAUSE REMEDY
Motor V-Belt Broken Replace V-Belt.
runs, but

basket will
not revolve

V-Belt Loose

Adjust Belt Tension.

Motor pulley
loose

Tighten set screw.

' Basket overloaded

Remove load.

Dryer
noisy or
vibrating

Not leveled

Check manual for proper leveling procedures.

Fan out of balance

Accidental damage to the fan blade can change
the dynamic balance. Damaged fans should be
replaced.

Basket rubbing

Adjust basket clearance.

V-Belt sheaves

Tighten set screws, make sure sheaves are in
proper alignment.

Belt

Adjust belt tension.

Foreign objects

Occasionally screws, nails, etc. will hang
in the basket perforations and drag against
the sweep sheets surrounding the basket.
Such foreign objects should be removed
immediately.

Dryer rumns
but no
heat

Incorrect voltage

Check for correct control voltage - 120V.

| No voltage

Check powef supply, check secondary voltage on

transformer and check wiring and wiring diagram.

Silicon carbide
igniter will not
glow - red

Broken or defective igniter--replace.

Light red
silicon carbide
igniter

Check for 2.5 minimum amperage. Low amperage
not hot enough.

Defective igniter
time delay relay

Heater No. 1 and No. 6 open circuit,if above
occurs replace time delay relay.

Lint door open

Close l1lint door.

Defective gas
valve

Replace coil assembly.

Gas turned off

Turn manual gas valve "on."

Page 28




TROUBLE

CAUSE

'REMEDY

Dryer runs
but no
heat

Defective door
switch )

Replace door switch.

Silicon carbide
igniter not igniting

_gas ‘

Must be 3/16 to 5/16 above ‘burner,

Replace radiant sensor.

Air switch not
operating

Clean out lint compartment daily. Check back
draft damper for foreign objects, lint
accumulation or other causes that may prevent
damper from opening. Check duct work for lint
build=up. Check installation sheet to insure
that duct work and make-up air openings are

" adequately sized. Check exhaust outlet. If a

screen has been improperly installed on the
outlet, it may be clogged with lint or frozen
over in winter. Never install a screen on the
exhaust outlet. Vacuum within dryer drops to
.09 inches of water column, or less, for normal
operation of dryer, vacuum reading (in inches
of water column) should range between .15 and
.3 inches. Vacuum reading can be made with a
vacuum U-gauge by removing a sheet metal screw
in the front panel of dryer, and inserting the
rubber tube of -the vacuum gauge into screw opening.|:

"Air switch out of

adjustment

See air switch adjustment sheet in service manual.

Air switch
defective

Replace air switch.

Gas pressure

too low

Check manifold pressure and adjust to pressure
specified on rating plate. If this pressure
cannot be obtained, have gas supplier check
main pressure.

Improper orifice

Dryer is orificed for type of gas specified on
rating plate. Check with gas supplier to
determine specifications for gas being used.

If different from rating plate, contact factory
and obtain proper orifices.

Electric power to
heating unit

»turned off

Turn power on.

Line fuse or heater
circuit fuse blown
to unit

Replace fuse.

Page 29



TROUBLE CAUSE REMEDY
Dryer runs Defective relay Replace relay.
but no
heat Defective electric Replace elements.
elements
Defective thermostat Replace thermostat.
Defective safety Replace thermostat.
overload thermostat
Lint compartment Close door.
door open
Main Burner air Open for blue flame.
burners shutters closed
burning
improperly Dirt in burner Blow out.
Gas pressure Check rating plate for correct gas pressure.
too high .
Orifice too large Send to factory for correct orifices.
Restricted or Clean exhaust.
blocked exhaust
Main Radiant Sensor Replace
‘burner
cycling
*on and
off
Low gas Incorrect main Replace orifices--check factory for correct size.
flame or burner orifices
high gas
flame
Dryer too Incorrect main Replace orifices--check factory for correct size.
hot

burner orifice

Inadequate make-up
air

Make up air must be 4 to 6 times the exhaust
area of the dryer.

Lint accumulated

Remove lint.

Exhaust duct
dampers

Must be full open or replace.

Gas pressure too
high

Adjust gas pressure as specified on rating plate.

Partially
restricted or
inadequately sized
exhaust system

Check installation sheet in service manual for

recommended sizes. Check for and remove obstruc-
tions or lint build up from duct work. Never use
smaller size exhaust duct. Always use larger size
exhaust duct.

Defective thermostat

Replace thermostat’.

N . An




TROUBLE

CAUSE

REMEDY

Dryer does
not stop at
end of time
period

Defective timer

Replace timer.

Page 31




D
cissell

Silicon Carbide Ignition System

B New radiant sensor.

B TWO gas valves and pressure
regulator provide additional safety.

B New igniter

e Combines unique HIGH PHYSICAL and THERMAL Strength with
stable electrical properties.

® Can be relied upon to give premium performance at operating
temperatures up to 2600° F and respond on command.

® Clean, straightforward design insures easy handling, minimum
chance of breakage; dependable, trouble-free operation.

Cissell’'s NEW Silicon Carbide Ignition System is better than ever!
® More reliable o Less costly to replace.
o Easier to service

Cissell's system reduces gas consumption 6% on the average over dryers with
standing pilots based on 40-hour per week usage. There’s no standing pilot to
burn constantly; no electronic pilot to consume gas before burner ignites. . .
either/both of which add high enery costs to your operation.

CISSELL'’s silicon carbide ignition system saves you up to 53% (dependent
upon model dryer and other factors) additional gas costs over certain previous
Cissell and competitive dryers of the same type WITHOUT sacrificing drying
rate! A MUST — in times of fuel shortages/high costs.

LOOK TO CISSELL for better energy-saving features!

RS2
cissell

ASK YOUR DISTRIBUTOR

Page 32



OPERATION OF THE NEW NORTON SILICON CARBIDE IGNITION SYSTEM

Povwer to the ignition system is 120 volts. It is rated voltage or on higher
voltage machines the 120 volts is from a transformer. The ignition system is powered
through a timer or coin meter and a thermostat which calls for heat.

The two gas valves are plumbed into a single gas line and both must open
before the gas can flow into the burners.

The following diagrams are line to line schematics of the ignition system.

The numbers 4, 7, 3, 9, and letters A and B are terminals on the ignition relay.

4 4 NC " 3 3
L1 e
Radiant Relxy
Relay S
NO ensor NC
!
120 v . 9
From Line Operating
Or Saé:iy Gas Valve
T former Valve A L
Ignition 2666 Ohms %m—mo
Relay Igniter Ohms
Coil
L2
B B B B

NEW NORTON SILICON CARBIDE IGNITION SYSTEM
Fig. 1 (Start of Cycle)
Step #1 (Start of Cycle), see Fig. 1

a. The safety gas valve is connected across the lines and opens
immediately as soon as a need for heat is indicated by the
thermostat.

b. The ignition relay coil is energized through the normally
closed (NC) contacts of the radiant sensor and the NC
contacts of the relay. Note! Fig. 1 shows the electrical
circuit of the relay just before it is energized. Fig. 2
shows the circuit a moment later.

¢. The igniter is energized through the NC contacts of the
radiant sensor.

d. The operating gas valve is connected such that the same 120

volts is applied to both sides of the gas valve and the
valve stays closed.

Page 33



LY X r
Radiant Relay
I Re;gy Sensor } NC
120 V — 19
From Line 7 Operatin
a g
resmstomer B Safety Gas i
Gas
Valve ) AIgni.t;ion' 2666 Ohms 230_100
Relay Igniter ot
Coil
L2 B

NEW NORTON SILICON CARBIDE IGNITION SYSTEM
Fig. 2 (An Instant Later)
Step 2 {A moment after Step #1), see Fig. 2
a. The ignition relay closes now and the relay coil stays
energized by being powered through the normally open (NO)
contacts of the ignition relay which close before the NC
contacts open.

b. The operating gas valve still has the 120 volts applied to
both sides of the gas valve and the valve stays closed.

NC
11 4 oo 3
Radiant Relay
Re;;‘yi Sensor NC
|
120 V > 9
From Line Operating
Or Safety Gas Valve
Transformer Gas | yy 228
Valve |}
Ignition 2666 Ohms 30-100
Relay Igniter
L2 3

NEW NORTON SILICON CARBIDE IGNITION SYSTEM
Fig. 3 {About 20 Seconds Later)
Step #3  (About 20 seconds after Step #2), see Fig. 3

a. The igniter glows red hot which causes the radiant sensor to
open its NC contacts which de-energizes the igniter.

b. As the radiant seasor NC contacts open, the 120 volt to one
side of the operating gas valve coil is removed and an electrical
circuit is formed through the NO contacts of the ignition relay,

Page 34



through the gas valve and through the igniter, and the gas
valve opens. The relatively low resistance of the igniter
allows nearby full voltage to be applied to the operating
gas valve and nearby zero voltage to the igniter and the
igniter is de-energized for all practical purposes.

c. As the raw gas flows against the red hot igniter, ignition
takes place. The radiant gas flame replaces the radiant
glowing of the igniter and the radiant sensor NC contacts
remain open.

The flame will burn until the thermostat opens the circuit or until the
time on the timer or coin meter expires.

The following summarizes the ignition operation.

Start machine drying cycle. Carbide igniter will get red hot. Then gas
valve will open. The gas burners are ignited by the carbide igniter. Igniter
will shut off and burners will remain on during drying cycle.

Opening tumbler door will cause gas to extinquish. Shut door and gas will
not light until flame sensor cools and normal ignition cycle begins.

Note! Push start switch after door is shut.

If gas does not light, then the sensor will cool down and restart the

ignition cycle.

Safety Features

Power Interruptions During Burning of the Gas

Both gas valves are de-energized and the gas is shut off. The ignition
relay is also de-energized and returns the contacts to the NO and NC positionms.
Even with resumption of power, the operating gas valve stays closed until the NC
contacts of the radiant sensor close (about 30 seconds from time of power
interruption). A normal ignition cycle begins at this time.

Burner Doesn't Light Because of Low Voltage or Low Gas Pressure

The operating gas valve will be energized for about 30 seconds and then
the NC contacts of the radiant sensor will be closed. 120 volts is applied to
both sides of the operating gas valve and it closes to shut off the gas. A

normal ignition cycle begins at this time.

Page 35



NORTON IGNITION SYSTEM

Test Procedure
1) Igniter will glow red.
1f Igniter does not glow red, then check the following:

(a) Disconnect Ignitér wiring from dryer - test with separate 120V.
Replace if it does not glow red.

(b) Also replace Igniter if cracked, broken or does not light burmer
in 25 seconds.

2) Unit must be wired correctly.

(a) Front gas valve must always be wired to "A" and "3" on the relay.
(b) Side or rear gas valve must be wired to "B" and "4" on the relay.

3) Rear or side gas valve must open (click) when drver is energized.

4) Front gas valve will open and gas will flow to burners after 12 to 25
seconds, when Igniter 1is glowing red. Red Igniter will light gas
from burners.

5) Igniter will go out when flame is burning.

(a) 1If both gas valves do not open (click), then replace.

{b) If unit does not operate correctly, then replace the relay,

(¢) If Igniter does not shut-off, then replace radiant sensor. Also,
if the radiant glass is broken, replace.

NORTON IGNITION SYSTEM

6) Parts in unit:

Norton Igniter TU8596

Ignition Radiant Sensor TU8598
Ignition Relays TU8599

Two Gas Valves TU6557

Wiring Diagram TWL1144

7) Open and close loading door after gas is burning and Igniter is shut-off.
Gas should not flow when door is reclosed until radiant semsor has cooled
and Igniter recycles.

TROUBLE SHOOTING
ON EACH NORTON IGNITION PART

A) Igniter TU8596

1) No Igniter red - Check voltage (120V)
- Cracked or broken, replace
- Check wiring TWL11l44. Must be connected to No. "B"
and No. "3" on relay.

Page 36



c)

B)

6.

Radiant Sensor TUB598

Contacts failed open position, replace.
Sensor N.C. (cold position)

Sensor open (hot position)

- Glass broken, replace.

1) Ko Igniter red

~2) Fails to open after 25 seconds

- Low voltage on Igniter

- Not in correct location

Glass broken, replace

Failure of contacts to open, replace.

Relay (Igniter) TU8599
1) Front gas valve does not turn om.

- Relay is wired incorrectly
~ Relay solenoid not operating
- Relay contacts not operating correctly

2) Relay contacts should make before bresk - whem the relsy coil is
energized, the contacts "4 & 7" should close bdefore contacts
"3 & 9" open.

Gas Valve TU6557

1) If walve does not open when 120V is applied te it, them replace
the coll assewbly TU3832 (120vV).

Z) The two gas valves mmst be wired correctly TWL1144 . Fromt gas valve
- wires comnected to "A and 3" on relay. Side or rear gas valve wires
connected to "B and 4" on relay.

INSTRUCTIONS FOR THE DIRECT
IGNITION SYSTEM OPERATION

Turn on manual gas valve; handle should be parallel with gas line.

Start machine's drying cycle. Carbide igniter will get red hot; thea gas
valve will open. The gas burners are ignited by the carbide igniter.
Igniter will shut off and burners remain on during heat cycle.

Opening tumbler door will cause gas to extinguish. Shut door and gas will
not flow until flame sensor cools and normal cycle begins.
NOTE! Push start button after door is closed.

If gas does not light, the sensor will cool down and restart the ignition
cycle.

To_shut off dryer, turn off manual gas valve. Handle should be at right
angle to pipe. Turn off main electrical supply switch.

If gas burners fail to ignite, please wait 5 minutes for a complete shut-off

period before next attempt.

Page .37



TROUBLE ANALYSIS FOR ENERGY SAVER DRYERS AND
THE ELECTRONIC SILICON CARBIDE GAS IGNITION SYSTEM

CAUTION: Problems with the electronic silicon carbide ignition can also

1.

be the result of the following.

Exhaust air flow restriction. Exhaust pipe size must be larger than
the exhaust opening. Refer to chart in manual.

Dryer inlet air is a must for each unit. It must be 4 to 6 times
the combined areas of the dryer exhaust outlet. Refer to chart in
manual.

All dryer panels wmust be in place and on wmachine for proper operation.

Gas pressure must be 7-9% inches W.C. for natural gas and 11 inches
W.C. for propane or butane (bottled) gases.

Refer to chart for correct gas pipe sizes and leangths. The 3/4 inch
gas pipe must be the minimum gas supply pipe for the dryer and over
50 ft., 1 inch pipe size.

Main burner orifices must be correct size, they are calculated with
the following information:

(A) Your locality heating value of gas, B.T.U./cu. ft.
(B) Local specific gravity of gas.
(C) Gas manifold pressure inches of water column.
(1) 3.5 inches water column pressure for natural gas
(2) 11 inches water column pressure for propane or butane gases.
(D) Gas input rate per each burmer orifice.

Voltage must be the identical as on the electrical rating plate.
Prevent low voltage; it causes loager drying operation.

Back draft damper must swing full open to prevent air flow restrictions.

- (Check for full open operation every 6 months). Non-operative or

erratic operation of exhaust dampers will cause air flow switches to
shut off gas and will result in longer drying time.

The above should be checked and corrected before attempting to trouble shoot

the electronic silicon carbide gas ignition system.

Page 38



cissell

831 SO. FIRST ST.  LOUISVILLE, KV. 40203

WIKING UIAGKAM

NORTON SILICON CARBIDE GAS IGNITION SYSTEM
120 VOLTS: 50/60 HZ: | PHASE
GAS DRYERS

I TWL 1144 )

SAFETY
REAR G.V.
GAS WHITE
VALVE | OPERATING
120v. FRONT GV, BLACK
IGNITER
CONMECTOR
’\ )
> [ ] EL o SLUE
3 i Szl e
8 1 EHE < WHITE
WHITE
| e
, TRANSFORMER
® ® (CAUTION: CONMECT WIRES AS SHOWN)
X2 FUSE Hp
l RED — RED
? 120 -=--O-{{84_0-1 B e B
, voTs SECONDARY | ) primary !
\ VOLTAGE L ___2 VOLTAGE !
\ < |
N {
S WHITE o TEA - RO WHTE 1 |
X ST H i |
o
o
—_—— NI . J |
PINK M _"TTTTTTTTOT J
GRAY | |
i ™
TO DIAGNOSTIC
: &y B ) o Diagn
i I 3-21-85
e d )




10.

11.

GENERAL MAINTENANCE

Clean lint trap daily. Remove lint before or after each day bt operation. A
clean lint trap will increase the efficiency of the dryer and the moisture
laden air will be exhausted outside more quickly.

Keep basket and sweep sheets clean. Clean periodically as often as needed. The
basket and sweep sheets within the dryer are easily accessible by removing the
front panel of the dryer.

Gas burners, steam coils, electric coils. Check periodically and keep clean
often.

Pulleys and belts. Keep clean as oil and dirt will shorten the life of a belt.
Check periodically for alignment. Pulley shafts must be parallel and the grooves
must be aligned. Check belt tension periodically. Adjust tension by movement

of idler bracket. -

Electric motor. Keep motor clean and dry. Motors are packed with sufficient
grease for 10 years normal service. After that, bearings and housing should be
cleaned and repacked one third full with Chevron Grease No. SRI-2. See label
on motor for further information.

If motor overheats, check voltage and wiring. Low voltage, inadequate wiring
and loose connections are the main cause of motor failures.

Adjustable leveling bolts. One at each corner permits accurate alignment of
dryer.

To adjust: Block one corner of dryer up off the floor, loosen hex nut. With
wrench, turn bolt clockwise to raise dryer, opposite to lower. Rear bolts are
outside of dryer and front bolts are inside lint trap compartment.

Periodically clean and examine exhaust system.

Keep dryer area clean and free of gasoline, combustible materials and other
flammable liquids or vapors.

Do not obstruct the flow of combustion (make-up) air and ventilating air.

Check gas pressure periodically.

Gas burners air inlet shutters can be adjusted for proper flame by following
instructions outlined on separate page of this manual.

Page 40



BURNER AIR INLET SHUTTERS ADJUSTMENT
MAIN GAS BURNER FLAME PATTERN

" Burners Air Inlet Shutters are correctly
adjusted when the flame is primarily blue.

BURNER AIR INLET
TYEE OF GAS SHUTTERS ADJUSTMENT
Natural Gas 1/2 Open
Liquid Petroleum 1/4 Open
Manufactured Gas 1/16 Open

AIR SHUTTERS ADJUSTMENT

Proper Method: Close air shutters to
yellow tip, then open air shutters to
blue flame tip. Orange tips are impurities

in the air such as lint, dust, etc. CORRECT

closed. Insufficient air is admitted
through the burner. Flame pattern is
straight up and flame is yellow.

WRONG NEED TO ADJUST SHUTTER

This flame pattern indicates the burner
air inlet shutters are correctly adjusted,
but air through the dryer is insufficient.
This condition indicates excessive lint

in the lint compartment, lack of make-
up air in the room, restricted exhaust
duct, or a vacuum in the room caused by
a exhaust fan.

WRONG
NEED TO PROVIDE CORRECT
AIRFLOW THROUGH THE DRYER

Page 41

Burners Air Inlet Shutters are adjusted




Instructions for Basket Alignment
UR & US Models Dryers

Step 1 ‘ Loosen both eccentric locking collars on the two basket bearings (flange and

~

Step 2

Step 3

Step 4

Step 5

Step 6

Right Side of Dryer

pillow block types). Loosen the set screws and turn clockwise. If necessary,
use a punch and mallet, striking the punch hole in a clockwise direction to

. break it loose.

Loosen the four side bolts, "1, 2, 3, 4," on the basket bearing bracket (See
Fig. 3). Loosen the two adjusting bolts and locknuts "5, 6," inside the
bracket. And loosen the bolts "7," on the pillow block bearing.

Place one "A" and two "B" diameter pins inside the drying compartment between
the rim of the basket opening and the rim of the door opening in the positions
shown in Figs. 1 & 2. Check the two "B" pins for equal clearance.

Note: Push the basket toward the rear.

With the pins in position, lock the collar nearest the rear wall of the dryer
on the shaft by striking the punch hole in a counterclockwise direction.
Tighten the set screw.

Tighten the side bolts "1, 2, 3, 4," in numerical order. Tighten the bolts
"7" on the pillow block bearing. And tighten the bolts "5" and locknuts "6".

Remove the aligning pins and if aligmnment is O. K., then tighten the collar on

the pillow block bearing the same as in Step 4.

Caution: Check to see that the set screws are wrench tight on the locking
collars.

Front of Drﬂ
PIN-A-1/2 DiA.
PIN-B-5/16 DIA.

Page 42



INSTRUCTIONS ON THE SHIMMING OF A CISSELL
BASKET AND SPIDER ASSEMBLY

This procedure is normally necessary when replacing either the basket
or the spider assembly on any Cissell tumbler. The alignment of
these two parts are crucial in assuring a true running basket.

A. Align the basket as per instructions in manual.

B. Rotate the basket to determine where the most out of round point
is (where the basket scrapes or comes closest -to scraping the sweep
sheet.

C. Mark this position and the nearest rib to this position.

D. Remove the basket (do not loosen the alignment bolts).

E. With the basket on the floor (spider up), place one or two shims
between the spider leg and the back of the basket at the marked rib
position. (See drawing)

F. Re-insert spider and basket assembly and re-check cylinder.

G. If at this point, basket is still out of round, procedure must
be repeated starting with step "B".

H. Upon completion of shimming process, re-alignment of basket is
necessary.

NOTE: 1If the point mentioned in step #B is between two ribs, both ribs
might have to be shimmed.

Nut

Lockwasher

Spider

Shims

Basket Rib

Tie Rod



INSTRUCTIONS TO REMOVE ECCENTRIC
LOCKING BEARING COLLARS

\§_5~¢“ﬁ With drift pin in collar hole--

strike C. W. to loosen

Bearing

collars

First -

loosen

set screws

~
7/
2
N\

Rear View

of Dryer

Page 44



Step 1:

Step 2:

Step 3:

Step 4:

Step 5:

Step 6:

Step 7:

Instructions for Replacing Bearings & Collars
(Dryers Equipped with Pillow Block and Flange Basket Bearings)

Remove belt guard, V-Belt, spacer and basket sheave.

Loosen set screw in first locking collar and remove from shaft by rotating
clockwise. If necessary, use punch and mallet, hitting in clockwise
direction to break collar loose.

Remove the two bolts holding the pillow block bearing and take if off the
shaft.

Remove the second locking collar in the same manner as in Step 2.

Remove the three nuts and washers holding the flange basket bearing and
take it off the dryer.

Inspect the bearings and collars for damage and replace as necessary in
reverse order of removing them. Before tightening securely, align basket
per instructions on separate instruction sheet.

Lubrication Guide - Grease bearings at regular intervals shown below. Use
#42-032-60¥5 Lubriplate #310 1 1b. can or 14.5 oz. tube, Lubriplate #930-2
Multi-purpose grease #10098.

Bearings are factory lubricated and ready for use.

They are equipped with fittings for lubricating.

Add grease slowly; when grease begins to come out of the seals, the
bearing will contain the correct amount.

Operating Conditions Grease Intervals
Clean Every 6 months
Dirty Every month
Moisture Every week




AIR SWITCH ADJUSTMENT

1. Shut off current; disconnect leads and remove air switch.

2. Lay air switch assembly on flat surface. Adjust air blade at
"A" (fig. 1) so that air blade lays flat and surface "B" is parallel
to the flat surface.

. 3. Place 3/8" x 5/8" spacer bar or equivalent "C" (fig. 2) under
air blade in position shown; hold switch mounting bracket firmly and
adjust switch actuator "D" with needle nose pliers at "E" by twisting
actuator right or left whichever is needed so that switch closes when
end of air blade engages bar "C".

4. Maximum opening of air switch must be no greater than 3/4" (fig.3).
Bend tab "F" in or out to maintain this dimension.

5. Re-install air switch assembly on rear of dryer.

6. Re-check operation of air blade.  Switch must close before air
blade engages face of opening and re-open before stop "F" engages.

Page 46



- Page,47



FRONT VIEW

Ref. No. Part No. Description
1 TU7733  #8X%" Self Drill Screw
-~ 2 TU1771  #6 Twin Nut
3 TU1979 Door Switch
4 TU1l770 Insulator
5 TU2373  Switch Bracket
6 TU3219  #6X1" S. M. S.
7 TU10010 Jacket Welded Asm.
8 TU4937 3/8"-16 Jam Nut
9 TU3211  3/8"-16X2%" Leveling Bolt
10 TU10290 Lint Screen Housing
11 TU10362 Lint Screen Only
TU5225  Frame Only
12 TU9035 Lock - JWC2
TU2844 Key - JWC2
TU8928 Cam
13 TU9511 Lint Door
14 TU7472 Lint Door Handle
15 TU2710 Trim Holder
16 TU2384 Bottom Trim
17 TU2620 Solid Top (Gas Only)
18 TU2877  #10 Speed Nut
19 TU2483 Sweep Sheet Gaskets
20 TU5887 Key
21 TU2882  %"-20 Hex Nut
22 TU2831 %" Split Lockwasher
23 TU10651 Cover Plate (Steam)
24 K337 Spider Replacement Kit
™ 25 TU10284 Lint Trap Front Support
26 TU10177 Spacer
27 TU8457 Thermostat Cover
28 TU9225  Coin Vault Lock Assembly
29 TU9033*% Front Panel & Door Asm.
30 TU2083 Basket Welded Assembly

*See Separate Page for Exploded View

Ref. No. Part No. Description
31 TU2883 %" Cut Washer
32 TU2313 Tie Rod
33 TU9325 Relay (2) Computerized
Coin Meter Only
34 TU9111* Thermostat Asm.
(Coin Meter Model Only)
TU10285% Thermostat Asm.
(Timer Model Only)
35 TU8737 Transformer (208 or 230V
Primary-120V Secondary)
TU8738 Fuses
36 TU8599 Relay 120V (Igniter)
37 TU8629 Terminal Board (Igniter)
38 TU8933 Diagnostic Board
TU10434 Diagnostic Board
(Steam or Elec. Dryers)
39 TU6336 Filler Plate
(Timer Model Only)
40 TU8152 Insulation
(US Models Only)
41 TU7735 Insulation
(US Models Only)
42 TU8108 Insulation
) (US Models Only)
43 TU7736 Insulation
(US Models Only)
44 TU9512 Adjustment Strip
45 TU9347 P.C. Board Support
46 TU9384  Adjustment Strip
47 TU3479  #10-32X7/16 Truss Hd.Scr.
48 TU2842 Hex Nut
49 TU8104 Insulation

Page 48

(US Models Only)



Page 49



REAR VIEW

5/16 Split Lockwasher

5/16-18X3/4" Hex Hd. Scr.
Motor(Specify Motor No.,
Voltage,Cycle&Horsepower

90-Degree Connector
Motor Sheave - 60 Hz.

Cable (Specify 32")

5/16 Sq. Hd. Set Screw
Rear Guard "US" Only
Rear Guard "UR" Only

Capacitor Motor Only)
Locking Collar Label

Jacket Welded Assembly
%" Int. Tooth Lockwasher
%~13X 1-3/4" Cap Screw

Relay Mounting Bracket

Mechanism Box Cover

Ref. No. Part No. Description Ref. No. Part No. Description
1 TU7733  #8X% Self Drill Screw 34" TU2814
2 TU3211 3/8-16X2% Leveling Bolts 35 TU4787 3/8-16 Hex Nut
3 TU4937 3/8-16 Jam Nut 36 VSB130 5/16 Cut Washer
4 TU10131 Right Rear Cover 37 TU5439
5 TU3188 3/8-16 Nylok Hex Nut 38 —_—
6 TU1851 %" Cut Washer
7 TU10272 1Idler Bracket 39 TU5241 Key
8 TU4936  3/8-16X3/4" Carriage Bolt 40 TU4791
9 TU3247 Retaining Ring 41 TU6559
10 TU7184 Sleeve Bearings 42 VSB134  3/8" Lockwasher
11 TU5217 14" Idler Sheave(50/60 Cy. 43 504641292
12 TU3395 V-Belt (4L580) 44 TU6486 Cable Strap
13 TU3395 V-Belt (4L580) 45 TU5850 Motor Mount
14 TU5887 Key 46 TU4790 Straight Connector
15 TU7016 15" Basket Sheave (50/60 Cy.) 47 TU2474  Gasket (2 Req'd.)
16 TU10003 Pillow Block Bearing#* 48 TU4684  Key :
17 TU10674 Bearing Support Bracket 49 F819
18 TU2831 %" Split Lockwasher 50 TU10134
19 RC347 1s-13X1% Cap Screw - TU5079
20 TU4787 3/8-16 Hex Nut TU9296  Rear Guard (Double
21 TU10002 Flange Basket Bearing#*
22 TU9760 Transformer 51 TU10433
23 TU8206* Air Switch Assembly 52 TU10418 Lubrication Label
24 TU2726  Strain Relief Plate 53 TU10010
25 M155 Wire Harness Clamp 54 OP251
26 TU9672 Rating Plate 55 0P233 %" Hex Nut
27 TUS5890 Control Box Cover 56 TU2195
28 TU1984 Relay-120V/50/60,2 Pole 57 TU2883 s Flat Washer
TU1985 Relay-120V/50/60,2 Pole 58 TU1851 % X % Cut Washer
TU3495 Relay-208V or 240V,50/60,3 Pole 59 TU6220
TU10669 Relay-480V. 60 TU10403 Air Switch Plate
TU3496 Relay-120V/50/60, 3 Pole 61 TU7467 Cover Plate
29 TU8746 Fan, 60 Hz.W/Set Screws 62 TU10651
TU5874  Fan, 50 Hz.W/Set Screws (Steam Dryer Only)
30 TU9272 5/16 Nylon Patch Set Screw 63 TU10177 Spacer
31 TU2476  Felt Seal 64 SB170 Junction Box Cover
32 TU2473 Side Gasket (2 Req'd.) 65 TU2372  Snap Bushing
33 C249 5/16-18 Hex Nut 66 TU10879

*See Separate Page for Exploded View.

**Eccentric Locking Collar W/Set Screws Included

Page 50

Bearing Support Bracket



ACCESS DOOR & CONTROL PANEL - COMPUTERIZED COIN METER

Transformer & Wire Assy.
#6-32 x 5/16 Hex Nut

#6~32x}; Tamper Proof Screw

Computerized C/M Control

*

Temp. Selector Switch

Neon Indicator Lamps 110V

Control Panel Nameplate
Wire Harness - 10¢ Coin

Wire Harness - 25¢ Coin

REF. NO. PART NO. DESCRIPTION REF. NO. PART NO. DESCRIPTION
1 TU8013 Cissell Nameplate 16 TU9327
2 TU3479 #10-32x7/16" Tr. Hd. Screw 17 M270 #6 I.T. Washer
3 P104 1/4" Cut Washer 18 TU3400
4 FB187 #10 Lock Washer 19 TU9028 Push Button Switch
5 TU2842 #10-32 Hex Nut 20 TU9525
6 TU9391 Access Door W/A* 21
7 - TU9386 Lock - JWC3 22
7A TU8995 Cam 23 TU9329
8 TU9387 Key - JWC3 24 TU9347 P.C. Board Support
9 TU8935  Knob 25 TU9030
10 - - = &k Coin Rejector (Specify 26
Denomination & Number of Coins) 27 TU9286 Control Panel
11 TU9426 4-40x5/8 Machine Screw 28 TU9514 Reset Label
12 TU9427 4-40 Hex Nut 29 TUS5421
13 TU9328 Digital Display Assembly 30 TU7959 Chrome Trim
14 TU9326 Battery Pack 31 TU5739 Door Support Arm
15 TU3624 #6-32x¥%; Rd. Hd. Screw 32 TU9302
33 TU9448
*TU10011 — Access Door Asm. Consists ' Switch
Of Rei. No. - 1,6,797A18930931 TU9‘049
Switch
**TU9897 -~ 10¢ Coin Switch Replacement 34 TU8629 Terminal Board

TU9898 - 25¢ Coin Switch Replacement

Page 51



—_ SINGLE TIMER CONTROL PANEL & ACCESS DOOR PARTS

Ref. No. Part No. Description Ref. No. Part No. Description

1 TU8013 Cissell Nameplate 14 TU2555 Timer Knob

2 TU8014 Therm~0-Cool Nameplate 15 TU5739 Support Rod

3 TU3479 #10~32x7/16" Tr. Hd. Screw 16 TU5421 Pilot Light - 120V.
4 P104 %" Cut Washer TU5639 Pilot Light - 240V.
5 FB187 #10 Lock Washer 17 TU10278 Control Panel Plate
6 TU2842 #10~32 Hex Nut 18 TU9030 Temp. Selector Switch
7 TU9391 Access Door W/A 19 TU9028 Push Button Switch
8 TU9386 Lock Asm. JWC3 20 TU6109 Timer, 120V., 60 Hz.
9 TU9387 Key JWC3 TU5842 Timer, 240V., 60 Hz.
10 TU10279 Control Panel Nameplate TU6083 Timer, 240V., 50 Hz.
11 TU3624 #6-32x% Rd. Hd. Screw 21 TU8629 Terminal Board

12 TU8935 Selector Knob

13 TU9525 #6-32xY Tamper Proof Screw

Control Panel Assembly

Ref. No.'s 10,11,12,13,14,16,17,18,19,20
TU10280 - 120V/60 Hz.
TU10303 - 240V/60 liz.
TU10305 - 240V/50 Hz.

Page 52



@

ACCESS DOOR & CONTROL PANEL ~ ELECTRO-MECHANICAIL COIN METER

Coin Meter (Specify Voltage,
Coin Denomination, Single

#8~32x11/32 Hex Nut
Indicator Lamp - 120V.
Indicator Lamp - 240V.

Control Panel Weldment

Temperature Select Switch

Ref. No. Part No. Description Ref. No. Part No. Description
1 TU9391 Access Door Weldment 12 -— -
2 TU3479 #10-32x7/16" Tr. Hd. Screw
3 P104 %" Cut Washer or Double Slot).
4 TU2842 #10-32 Hex Nut 13 TU3266
5 TU9386 Lock-JWC3 14 FB187 #10 Lock Washer
5A TU8995 Cam 15 P104 %" Cut Washer
6 TU9387 Key - JWC3 16 TU5421
7 TU8013 Cissell Nameplate TU5639
8 TU8935 Knob Assembly 17 TU8941
9 TU9034 Control Panel Nameplate 18 TU5739 Support Rod
10 TU9028 Push Button Switch 19 TU9030
11 TU4958 #8-32x3/8 Machine Screw 20 TU7959 Chrome Trim
21 TU8629 Terminal Board

Page 53



Ref. No. Part No.

FRONT PANEL & DOOR ASSEMBLY

Description Ref. No.

HOWOWNOWL ™ WN K

o

Note:

"

TU10763
M262
TU2194
TU2105
FB187
TU3266
TU2836
TU2878
TU7456
TU2236
PIF172

TU4827 - Actuator Asm. Consists of Ref. No. 2, 3, 4, 5, & 6.
TU7172 - Door Asm. Consists of Ref. No. 11-20.

Front Panel W/Door Catch
#8-32x3/8" Truss Hd. Screw
Door Switch Actuator

Door Switch Spring

#8 Split Lockwasher

#8-16 Hex Nut

5/16"-18x%" Hex Hd. Screw
#10x5/8" S.M.S.

Door Catch Asm.

Hinge Post

Delrin Bearing

Page 54

#10-32x3/8" Machine Screw
#10-32 Hex Crown Nut

#10-32x3/8 Taptite Screw

Part No. Description
12 TU8994 Basket Door Seal
13 TU4839
14 TU4840
15 TU7171 Basket Door
16 TU3215
17 TU3163 Catch Pin
18 TU2874 Basket Door Handle
19 TU10184 Rubber Gasket
20 TU7862 Door Glass
21 TU6336 Filler Plate

(Timer Model Only)



Ref. No.

TU10285 - THERMOSTAT ASSEMBLY (TIMER MODELS)

Part No.

oo~

TU2045
TU3240
TU5150
TU7244
TU5143
TU3624
TU3400
TU7733
TU6067

Description
Cool-Down Thermostat

185°F.Thermostat (2 ea.)
150°F. Thermostat

135°F. Thermostat

Mounting Bracket

#6-32x%" Rd. Hd. Screw (6 ea.)
#6-32 Hex Nut

#8x%" Self Drill Screw

#8 Speed Nut (2 ea.)

Page 55



TU9111 - THERMOSTAT ASSEMBLY (COIN METER MODELS)

Ref. No.

Part No.

O 0O~ W=

TU3240
TU3240
TU5150
TU7244
TU5143
TU3624
TU3400
TU7733
TU6067

Description
Safety High Limit Thermostat

185°F. Thermostat

150°F. Thermostat

135°F. Thermostat

Mounting Bracket

#6-32x%" Rd. Hd. Screw (6 ea.)
#6~32 Hex Nut

#8x% Self Drill Screw

#8 Speed Clip (2 ea.)

Page 56



RECIRCULATING DUCT ASSEMBLY
TU~-10269 - VERTICAL ASSEMBLY COMPLETE
TU-10336 - HORIZONTAL ASSEMBLY COMPLETE

REF. NO. PART NO. DESCRIPTION
TU-7733 #8X1/2" SELF DRILL SCR
TU-8052 TEE - 8"X6"X6"

TU-8176 PIPE - 8"X 17 1/2"
TU-9161 INSTALLATION LABEL
TU-10268 ELBOW ~ 8"

TU-10335 TEE - 8"X6"X6"

TU-8053 ELBOW - 6"

TU-8054 PIPE - 6" X 15 1/2"
TU-8055 PIPE - 6" X 23 1/2"

Woo~NOn N

TUB206 AIR SWITCH ASSY.
REF PART DESCRIPTION.
NO. NO.

. F888 "E"RING

TU2463 ACTUATOR ARM

TU3476 AIR SWITCH DECAL

TUIZ71 "6 TINNERMAN NUT

TUBISS AIR SWITCH

TUI770 INSULATOR

TU8I7I AR SWITCH BRACKET

TU7733 "8-18X /2" SELF -
DRILLING SCREW ™

9, TU32I19 *6X['ROUND HD. SM.S.

O N O I NN




REGULAR GAS FIRED MODEL

=2
5%
=h

\IO\U'IJ-\U)N’—-J

>

bt
— O W o~y

12
13
14
15
16
17
18
19

~

GAS BONNET & BURNER ASSEMBLY~ TU8781 (Natural Gas)
GAS BONNET & BURNER ASSEMBLY- TU8834 (L.P. Gas)

All Hardware Sold Only in Packages of 6

Regulator(nat'l gas only)

Baso Gas Valve Coil Assy.

Manifold Mounting Bracket

Part No. Description
TU8631 Bonnet Welded Assy.
TU8605 Molex Connector
TU3416 #8x1% S.M.S.
TU2724 %" Pipe Nipple- 25"
0P308 L" Pipe Nipple- 4"
TU7935

TU6557 Baso Gas Valve
TU3832

TU6321 Gas Cock

OP290 L" Nipple~ 2"
TU2226

TU10946 Manifold Plug
136067752 Fiberglass Tubing
TU8598 Radiant Sensor
0P291 %" Street Elbow
TU3266 #8-~32 Hex Nut
M271 Lockwasher-Brass
Cl1356 Connector T & B
TU9540 Heat Shield
TU8596 Norton Igniter

Ref.
No.

20
21
22
23
24

25
26
27
28
29
30
31
32
33
34
35
36

Page 58

Part No. Description

CB36 %"-20 x %" Hex Hd. Screw

TU2846 %" Split Lockwasher

TU4934 %"-20 Hex Nut

TU2847 L" Flat Washer

TU2224 1/8" Pipe Plug (for manifold
test hole)

TU3539 Gas Burner Orifice(Specify Size)

TU8288 Manifold Assembly

TU7840 Burner Assy.(right hand)

TU8760 Burner Ignition(left hand)

TU8613 Norton Igniter Instructions

0P290 1" Pipe Nipple- 2"

TU8690 Norton Igniter Plate

TU4820 3/16 x % x ,047 Cut Washer

TU8645 Installation Instructions

TU10292 Wing Nut

TU10286 Spacer

602102180 8x)s Hex Hd. Slot Screw



ENERGY SAVER GAS MODEL

GAS BONNET & BURNER ASSEMBLY- TU9110

#8 x %" Self- Drill Screw

Regulator (nat'l gas only)

Baso Gas Valve Coil Assy.

. Upper Rear Air Deflector

Burner (Ignition,Left Hand)

Norton Igniter Mtg. Plate
Clean Out Panel Nameplate

Ref. ‘
No. Part No. Description
1 TU9048 Bonnet Welded Assy.
1A TU8651 Door & Hinge W/A
1B TU7775 Top Panel (for TU8640
order separately)
2 TU7733
3 TU2842 #10-32 Hex Nut
4 TU2724 %" Pipe Nipple-25"
5 OP308 1" Pipe Nipple-'4"
6. TU7935
7 TU6557 Baso Gas Valve
7A TU3832
8 TU6321 Gas Cock
9 0P290 %" Pipe Nipple-2"
10 TU2226 Manifold Mtg. Bracket
11 136067752 Fiberglass Tubing
12 TU7294
13 TU8760
14 0P291 %" Street Elbow
15 TU8598 Radiant Sensor
16 C1365 Co-nector T & B
17 TU8690
18 TU7373
19 TU8596 Norton Igniter
20 TU9540 Heat Shield

Page 59

v (Natural Gas)
GAS BONNET & BURNER ASSEMBLY- TU9157 (L.P. Gas)
All Hardware Sold Only in Packages of 6

~

Ref.

No. Part No. Description

21 CB36 %20 x %" Hex Hd. Screw
22 TU2846 %" Split Lockwasher

23 TU2847 %" Flat Washer

24 TU4934 4%"-20 Hex Nut

25 TU2224 1/8" Pipe Plug

26 TU3539 Gas Burner Orifice

(Specify Size)

27 TU7840 Burner Assembly

28 TU8288 Manifold Assembly

29 TU3416 #8x1¥% S.M.S.

30 TU10946 Manifold Plug

31 M271 Lockwasher Brass

32 TU4820 3/16 x % x .047 Cut Washer
33 TU8605 Molex Connector

34 602102180 8x%" Hex Hd. Slot Screw

35 TU2877 #10 Tinnerman Nut

36 TU2878 #10x5/8" S.M.S. /
37 TU3479 #10-32x7/16" Truss Hd. .8trew
38 TU8613 Norton Igniter Instruetions
39 Gas Rating Plate

40 TU8645 Installation Instructions
41 P104 %" Cut Washer h

42 TU3266 ' 8-32 Hex Nut N~
- 43 AT383 8-32 x %" Truss Hd. Scre
&4 TU2853 Gasket Material )
45 TU10292  Wing Nut

46 TU10286 Spacer






	Cover
	Table of Contents



